5. /04

5./04 For the 180° elbow and nozzle flow shown in Fig, P5.104, _
determine the loss in available energy from section (1) to section 6 in. Y comrtw|
(2). How much additional available energy is lost from section

(2) to where the water comes to rest? = ==

Pp; = 15 psi
Vi = 5ftls

Section (1)
FIGURE PS5, |04

for solving the st part of this problem, he control volume
shown in the skefch above s wused. To defermine the Jpss

aawany;}y Flow From sechp, ¢ to Sechpn 2 €g. 5. 79 can be used
as Follows .

JJoss. = A& + YW . 9E,-2)
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Since X-y coovdinates are Iloe:;'f';'eaf we assaume That the Fow
/5 hotizenta ! and Z,-2, = 0. Abse, B=F£, = O psi

From 74  comgervation ©F mass principle we conclude that

'I/;- = VA: = V/f_)
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For fthe second part of *+his problen we consider the fow of a
fuid /7&71‘:'!11’8.- Ffom sechon 2 b a stk of rat,a.£9 579 leads #o
- \
/5'55& _‘2

Note that we ﬁum assumed That e P = 32.4.."'”“( 2 =
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/asrd = 200 £t le ft,
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